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TEXT:

	Ch
	Page
	Location
	Error/Currently
	Correction/Should be

	2
	45
	Formula 2.13 in Example 2.1
	0 cases x $265 per case = $21,200
	80 cases x $265 per case = $21,200

	2
	50
	Exhibit 2.7
	Many of the values are interchanged.
	See corrected table, below.

	2
	56
	Example 2.5, last formula presented
	$145,500 x $137,000 =$12,500
	$145,500 - $137,000 =$12,500
(minus symbol, not multiplication)

	2
	62
	Diagram for Step 1
	Label above top-right branch of "Expand A" reads "$17,000"
	Should read "$75,000"

	3
	86
	Exhibit 3.5, rightmost column title
	“Value Attributes as Perceived by Consumers”
	“Value Attributes as Perceived by Customers”

	7
	252
	Formula at top of page
	First character is currently: 
[image: image1.wmf]R


	Should be: 
[image: image2.wmf]R



 EMBED Equation.DSMT4  [image: image3.wmf]

	7
	259
	End of top line in Example 7.6
	"... have shown that the mean percentage of approvals that are too long is seven percent."
	Should read: "... have shown that the mean percentage of approvals that are too long is six percent."

	7
	281
	Problem 3, line 2
	"Last month the company held 94 pairs of blue jeans..."
	Should read: "Last month the company held 90 pairs of blue jeans..."

	10
	433
	Formula 10.12
	
MAD = 
[image: image4.wmf]1
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	Should be:
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	10
	435
	Formula 10.14
	
MAPE = 
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	Should be:
MAPE = 
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	11
	485
	Exhibit 11.4
	The “inventory” line is mislabeled. It actually shows the contribution to inventory for that particular period.  It does not show the inventory level, which would be the cumulative impact of the difference between demand and production.  
	See corrected figure, below.

	11
	491
	ROP -bottom
	ROP formula 
	Formula ( 11.1 ) missing from margin 

	11
	492
	Exhibit 11.6
	Left side label 
	‘Recorder Point’ should be ‘Reorder Point’

	11
	494
	Example 11.2 
	Center of box (under square root symbol)   
	(132 + 132) should be (138 + 138) 

	11
	497
	Example 11.3
	Solution, second line 
	Square root sign should end before = sign

	11
	499 (and 514)
	SS formula 
	Safety Stock Formula 
SS = etc 
	Should be labeled 11.8 in the margin

	11
	515
	Solved Problem 1
	#3 and ‘Solution’ 67.31 
	Should be 
56+(11.31*2.33)= 82.35

	11
	516
	Solved Problem 4
	Solution, steps 6 and 7 
	Should be 

252+15.07 = 267.07 267.07-14= 253.07, round up to 254

	13
	582
	Exhibit 13.5
	The work centers are mislabeled as all being WC2.  
	See corrected Exhibit, below.

	16
	712
	Example 16.4
	Exhibit is misnumbered.
	Exhibit should be numbered Exhibit 16.18.


Corrected Exhibit 2.7
	
	Toyota
	General Motors

	2005 U.S. sales
	2,260,296
	4,454,386

	U.S. market share
	13%
	26.8%

	2004 North American production
	1,558,828
	4,856,000

	Production time per vehicle
	27.9 hours
	34.3 hours

	Average plant capacity utilization
	107%
	85%

	Profitability per vehicle
	$1,448
	-$2,331

	Average hourly salary
	$27 per hour
	$31.35 per hour

	Health care costs per vehicle
	$201
	$1,525

	Work force
	
	

	      White Collar
	17,000
	36,000

	      Production
	21,000
	106,000

	       Retirees
	1,600
	460,000

	
	
	


Corrected Exhibit 11.4
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Corrected Exhibit 13.5
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